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©Ten points each. Total | 00 points.
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1) As shown, the sum of the numbers on each pair of leaves on the left and the right happens to be the
number on the flower. Find 4+ B+ C.
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(A)7896 (B)7686 (C)8006 (D)7926

2) Among the 4-digit numbers (with no repeated digits) which are formed by six number cards 5, |, 8,
3, 6, and O, find the difference between the largest and the smallest numbers.
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(A)7231 (B)8518 (C)7618 (D)7628

3) How many @’s are used in the figure?
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(A)4a6 (B)48 (C)49 (D)50 j \_H L
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4) Balls in red, yellow, and blue are in the bag. Suppose there are | 2 more yellow balls than red balls,
| 4 more blue balls than yellow balls, and twice as many blue balls as red balls, how many balls are
there in the bag?
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(A)11o B)112 (C)113 (D) 116

5) A large rectangle is divided into six small rectangles where four of them have the perimeters of |10,
|2, 16, and | 6 (written below), respectively. If each rectangle has four integral sides, and the
minimum value of the perimeter of the large rectangle might be x, find the sum of the digits of x. (The
figure is not drawn to scale)
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(A5 (B)7 (C)8 (D)9

6) Natural numbers are arranged in ascending order from |. The first time, | number is taken away,
which is |. The second time, 2 numbers are taken away. The third time, 3 numbers are taken away. If
numbers are taken away in the same pattern of | number, 2 numbers, and 3 numbers, repeatedly, find
the sum of the numbers which are taken away in the | 00th time.

M| B e B RBETIG B AREE —REGE | B3 BPERA | 0 B —RERAE 2B HF=X
A ISEE > 24 BIBFERRAE | B -28 -3 BT KX EHA LT AE 100 REIEH
REFF L %) ?

(A)199 (B)200 (C)399 (D)698
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7) Given a 4-digit number math riddle. According to the conditions below, how many correct answers
are there?
(1) The 4 digits are distinct.
(2) The product of the 4 digits is O.
(3) The two digits in the middle are even numbers, and the other two digits are odd numbers.
(4) The sum of the two digits in the middle is the same as the sum of the other two digits.
(5) There is no |.
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(A)2 (B)4 (C)6 (D)8

8) Below is a computing machine. Find “ ? .
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(A)18 (B)25 (C)22 (D)2l
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9) As shown, from top to bottom, left to right, upper left to lower right, upper right to lower left, every
three numbers are linked as a group. How many multiplication equations are established?
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S 6 2 4 4
2 7 12 3 18
3 42 3 24 772
8 9 36 2| 15
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(A)5 (B)6 (C)7 (D)8

10) The figure below is formed by 52 | X | squares. If it can be divided into [ | different sizes of
squares, which number in the options below cannot be [ ]?
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A)e @B Il ()12 (D)13
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